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Q. 1) A. Select and write the correct alternative from those given in the
bracket : (1)
i) Additive inverse of -56 is (0, 1,56, 5—: )
1
i) +(-1)=15. (-15,15,- =, 1-)
B) Attempt the following:- (2)
. i) Evaluate: (-21)- (-10)

i) Find: 9x(-3)x(-6)
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(2)
C) 1) Find the product using suitable property.
15 X (-25) X (-4) X ( -10)

2) Write a pair of integers whose sum is -3 (1)

D) In a class of 60 students X of the total number of students like to study
€

Mathematics, -;— of the total number like to study English and remaining

i

students like to study Science. How many students like to study English

and Science? (2)

2) Find the value of angles x, y and z in the following figure. (2)
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Q. 2) A. S
elect and write the correct alternative from those given in the

bracket
1) The reci "
Procal of 1 is {0, 1,=1,3)
i) '% X— = i-g- 3 5 10 g
(2 %5 7 J
B) Attempt the following:- (2)
1) Find: < of 18
2) Find: 0.5 X 0.05
C) 1) Express 235 paise as rupees using decimals. (1)
2) Solve the following: (Any Two) (3)
3 2 " 3 s
i) 3 + 3 i) 87 -373
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D)

i) 2

3
s +

;|-

1) The following table shows the marks obtained in various subjects

byVibhav in an examination. Represent the given data on a bar

graph, using appropriate scale.
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Maths

Science

(2)

Social
Science

55

45

35




D. 2) In the figure, state with reason whether line p // line q (1)

P 9
4
75°
Q3) A. Select and write the correct alternative from those given (1)
in the bracket.
If two angles are supplementary, then the sum of their measures is 9

(90, 100, 160, 180)

B.1) Write an equation for the given statement. (1)

3 is added to seven times a number p gives 24

2) A batsman scored the following runs in five innings.

36, 50, 39, 60, 55.

Find the mean runs scored by him in an inning.

(1)
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C. 1) State with reason If it is possible to draw triangle with sides 3 cm, 6 cm

and 7 cm. (1)

2) Given that line | parallel to line m & line p parallel to line q, Find the

values of a, b, ¢ and d in the figure drawn below. (2)
| m
%
60
a b q
c| d
Vil - MATHEMATICS 6

- | ]

Scanned by DocumentScanner | Lufick




D) 1. In the adjoining figure, AB Il CD,

2
BG Il EF, D-C-E, L ABC = 70°, a

then find 1)L_DCG ii) L DEF

A
D
70°
B C g
—
E -

2) Anplane is flying at the height of 5550 m above sea level. At a particular
point it is exactly above a submarine floating 1150 m below sea level.

What is the vertical distance between them. (2)

Q4 A) Select and write the correct alternative from those given in the bracket(1)

In a right angled triangle, the side opposite to the right angle is called

the

(altitude, median, hypotenuse, bisector)

B) Do as directed
1) Find the mode of the given data. (1)
2, 14, 16, 12, 14, 14, 16, 14, 10, 14, 18, 14
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2. Solve the following equations. (Any One) (2)

(1) 2(x +4)=12

(i) 5x -3=12
C. 1) The sum of five times a number and 18 is 63. Find the number. (2)
2) Find the median of the given data: 24, 36, 46, 17, 18, 25, 35. (1)

D). Attempt the following:

1. Name the triangle with at least two sides equal. (1)
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D)

359

2. In the given figures, find the value of x.

45

(2)

Q. 5) (A) ALET is congruentto ACAP. The measure of LLET= 70°, then find
measure of L. CAP.

(1)

B) 1) Observe the figure and complete the following : (2)
Y In AABC and A ADC
3.6 1.AB= (Given)
2. AC= (Common Side)
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3. LABC = L ADC--—(Each is 90°)

4 AABC=A

(by Congruence rule)




C) In figure, AB = AC and AD is the bisector of | BAC. (3)

Answer the following questions given below:

B D »-

i) State three pairs of equal parts in triangles ADB and ADC.
1) Is AADB congruent to AADC? Give reasons

) Is LB = L C? Give reasons.

D.2) Draw rough sketches for the following. (1)

1) In APQR, PQand PR are altitude of the triangle.
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2) In A MAT, AD is a median (1)

D.1 State the congruence criterion by which the given two triangles are

Congruent in the following figures. (2)
0 2
: i)
i)
A
Q@ N
p
0
R
S
ALL THE BEST
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